



City of Aurora, IL
Engineering

Jason Bauer, Director of Public Works/City Engineer
44 E Downer Place, Aurora, IL 60502

EVALUATION TABULATION

ITB No. 26-002

RiverEdge Park Sound Improvement Bid Package

RESPONSE DEADLINE: February 6, 2026 at 11:00 am

Report Generated: Wednesday, February 18, 2026

SELECTED VENDOR TOTALS

Vendor	Total
Ayre Productions	\$287,630.00
OSA International, Inc	\$306,070.17
Advanced Communications, Inc.	\$343,199.00

BASE BID

Selected	Line Item	Base Bid			Advanced Communications, Inc.		Ayre Productions		OSA International, Inc	
		Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	1	JBL Control® 25-1 Background Music Speaker	31	EA	\$228.00	\$7,068.00	\$190.00	\$5,890.00	\$197.26	\$6,115.06
X	2	JBL MTC-28/25CM Ceiling Mount Adapter	17	EA	\$39.00	\$663.00	\$42.00	\$714.00	\$34.35	\$583.95
X	3	Adaptive Technologies Group PM-010	14	EA	\$928.00	\$12,992.00	\$115.00	\$1,610.00	\$188.80	\$2,643.20
X	4	Lab Gruppen D 40:4L Amplifier	7	EA	\$3,552.00	\$24,864.00	\$3,200.00	\$22,400.00	\$3,261.87	\$22,833.09

EVALUATION TABULATION

ITB No. 26-002

RiverEdge Park Sound Improvement Bid Package

Selected	Line Item	Base Bid			Advanced Communications, Inc.		Ayre Productions		OSA International, Inc	
		Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	5	Middle Atlantic ERK Series 40RU AV Floor Standing Rack	1	EA	\$1,032.00	\$1,032.00	\$775.00	\$775.00	\$2,241.00	\$2,241.00
X	6	3U Horizontal Fan Panel Rack Air Fow	1	EA	\$294.00	\$294.00	\$255.00	\$255.00	\$275.00	\$275.00
X	7	Vertical Rack Power Distribution	1	EA	\$213.00	\$213.00	\$1,097.00	\$1,097.00	\$2,872.00	\$2,872.00
X	8	Lab Gruppen D 20:4L Amplifier	2	EA	\$2,608.00	\$5,216.00	\$2,355.00	\$4,710.00	\$2,394.57	\$4,789.14
X	9	12-Outlet Horizontal Rack Mount Metered PDU	1	EA	\$193.00	\$193.00	\$189.00	\$189.00	\$217.49	\$217.49
X	10	Netgear GSM4230P-100NAS 24-Port	10	EA	\$1,333.00	\$13,330.00	\$1,040.00	\$10,400.00	\$1,256.70	\$12,567.00
X	11	10U Low-Profile Switch-Depth Wall-Mount Small Rack Enclosure, Hinged Back	1	EA	\$584.00	\$584.00	\$535.00	\$535.00	\$837.10	\$837.10
X	12	Yamaha VXH6B Ceiling Speakers	18	EA	\$319.00	\$5,742.00	\$325.00	\$5,850.00	\$320.89	\$5,776.02
X	13	Netgear Compatible SFP+	18	EA	\$324.00	\$5,832.00	\$158.00	\$2,844.00	\$11.80	\$212.40

EVALUATION TABULATION

Invitation For Bid - RiverEdge Park Sound Improvement Bid Package

EVALUATION TABULATION

ITB No. 26-002

RiverEdge Park Sound Improvement Bid Package

Selected	Line Item	Base Bid			Advanced Communications, Inc.		Ayre Productions		OSA International, Inc	
		Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	14	Allen & Heath AHM-64	1	EA	\$3,908.00	\$3,908.00	\$4,315.00	\$4,315.00	\$5,183.61	\$5,183.61
X	15	Allen & Heath CC-10 10" Touch Panel	2	EA	\$1,690.00	\$3,380.00	\$1,342.00	\$2,684.00	\$1,790.47	\$3,580.94
X	16	System Processor / LMX 88 Lake Audio System Processor	1	EA	\$5,327.00	\$5,327.00	\$4,450.00	\$4,450.00	\$4,708.20	\$4,708.20
X	17	12U Vertical Rack Mount Case	1	EA	\$1,413.00	\$1,413.00	\$1,500.00	\$1,500.00	\$899.00	\$899.00
X	18	4U Heavy Duty Rack Drawer, 18" Deep	2	EA	\$230.00	\$460.00	\$119.00	\$238.00	\$174.64	\$349.28
X	19	OpticalCON QUAD Panel Mount	2	EA	\$148.00	\$296.00	\$102.00	\$204.00	\$666.00	\$1,332.00
X	20	4 Fiber Broadcast Tactical Single Mode, 50 ft	1	EA	\$459.00	\$459.00	\$300.00	\$300.00	\$1,823.10	\$1,823.10
X	21	ADAMSON IS7pxw Weatherized 70° x 40° Hill Seating Speakers	4	EA	\$3,652.00	\$14,608.00	\$3,255.00	\$13,020.00	\$3,410.26	\$13,641.04

EVALUATION TABULATION

ITB No. 26-002

RiverEdge Park Sound Improvement Bid Package

Selected	Line Item	Base Bid			Advanced Communications, Inc.		Ayre Productions		OSA International, Inc	
		Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	22	Adaptive Technologies Group PM-24-6DOWN-G	4	EA	\$1,221.00	\$4,884.00	\$425.00	\$1,700.00	\$443.52	\$1,774.08
X	23	ADAMSON IS7p Vertical Bracket Weatherized	4	EA	\$671.00	\$2,684.00	\$575.00	\$2,300.00	\$627.00	\$2,508.00
X	24	dbTechnologies IS25T-WP Passive Speaker	16	EA	\$829.00	\$13,264.00	\$700.00	\$11,200.00	\$686.40	\$10,982.40
X	25	Lab Gruppen D 80:4L Amplifier	1	EA	\$5,397.00	\$5,397.00	\$4,700.00	\$4,700.00	\$4,956.00	\$4,956.00
X	26	Adamson IS10 Weatherized (4 per Array)	16	EA	\$5,449.00	\$87,184.00	\$4,800.00	\$76,800.00	\$5,088.76	\$81,420.16
X	27	Adamson IS119 Weatherized (1 per Array)	4	EA	\$4,768.00	\$19,072.00	\$4,100.00	\$16,400.00	\$4,378.54	\$17,514.16
X	28	IS119/IS10 Support Frame Weatherized	8	EA	\$2,409.00	\$19,272.00	\$2,060.00	\$16,480.00	\$2,212.50	\$17,700.00
X	29	Moving Point Extended Beam Weatherized	4	EA	\$2,570.00	\$10,280.00	\$1,350.00	\$5,400.00	\$2,302.18	\$9,208.72
X	30	Lab Gruppen D 120:4L Amplifier	4	EA	\$6,566.00	\$26,264.00	\$5,700.00	\$22,800.00	\$6,029.80	\$24,119.20
X	31	6RU ATA Style Flight Case	1	EA	\$517.00	\$517.00	\$595.00	\$595.00	\$263.94	\$263.94

EVALUATION TABULATION

Invitation For Bid - RiverEdge Park Sound Improvement Bid Package

EVALUATION TABULATION

ITB No. 26-002

RiverEdge Park Sound Improvement Bid Package

Base Bid					Advanced Communications, Inc.		Ayre Productions		OSA International, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	32	Yamaha Rio1608-D3 16-Input/8-Output Dante Stage Box	1	EA	\$5,937.00	\$5,937.00	\$5,375.00	\$5,375.00	\$5,133.90	\$5,133.90
X	33	Yamaha DM7	1	EA	\$29,143.00	\$29,143.00	\$27,600.00	\$27,600.00	\$27,215.14	\$27,215.14
X	34	Yamaha DM7 ATA Road Case	1	EA	\$899.00	\$899.00	\$2,500.00	\$2,500.00	\$552.00	\$552.00
X	35	Yamaha Rio3224-D3 32-Input/24-Output Dante Stage Box	1	EA	\$10,528.00	\$10,528.00	\$9,800.00	\$9,800.00	\$9,242.85	\$9,242.85
Total						\$343,199.00		\$287,630.00		\$306,070.17

ALTERNATE BID

Alternate Bid					Advanced Communications, Inc.		Ayre Productions		OSA International, Inc	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
	36	Complete Equipment Installation	1	LS	\$110,950.00	\$110,950.00	\$31,348.00	\$31,348.00	\$118,785.00	\$118,785.00
Total						\$0.00		\$0.00		\$0.00

VENDOR QUESTIONNAIRE PASS/FAIL

Question Title	Advanced Communications, Inc.	Ayre Productions	OSA International, Inc
Contact Information	Pass	Pass	Pass
References	Pass	Pass	Pass
Sub-Contractor List	Pass	Pass	Pass

EVALUATION TABULATION

ITB No. 26-002

RiverEdge Park Sound Improvement Bid Package

Question Title	Advanced Communications, Inc.	Ayre Productions	OSA International, Inc
Eligibility	Pass	Pass	Pass
Bidder's Tax Certification	Pass	Pass	Pass
Bidder's Certification	Pass		Pass
Local Vendor Preference Application	Pass	Pass	Pass
Standard City of Aurora Contract	Pass	Pass	Pass
Additional Information	Pass	No Response	Pass